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Q) Let [.] denotes the greatest integer function and
f ()= [tan® x], then

(a) Iin(} f (x) does not exist

(B) f(x)is continuous at x=0
(c) f (x)1s not differentiable at x=0

) f7O)=1

s ) -0]-©

AL — U [funlx] =0 {’(1) = 4 fanx Sec'*
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Q) Let [.] denotes the greatest integer function and
f ()= [tan® x], then

(a) Iinol f (x) does not exist

(b) f(x)is continuous atx=0
(c) f (x)is not differentiable atx=0

) f7O)=1

Ans: (b)
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EEEEE

Q) What is the set of all points, where the function

1s differentiable?

f(x)= : x, X 1D — £
wr lf = § % o) = 4
Sya) (—o0, ) only -'7(,"X<O__h7£(rx7ﬁz
(®) (0,%)only [— %
LHD af 220 RH)
© (-,0)u(0,o)only -

E Fr=o
—0, 0) only 'U”) (OPA)“ [O 'a —
(@ {oe.0) onl b y ) ifm fo+4) - £(o) .m

: b —o 4
W T Ly 7}2/‘ :@
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Q) What is the set of all points, where the function

1s differentiable?

X
/()=

+[
@ (-

(b) (0,)only
©  (-2,0)0(0, ) only

d) (—o0,0) only

oo) only

Ans: (a)
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QIf f () =x (Jx +4/(x+1), then

(a) f (x)1is continuous but not differentiable at x = 0

(b) f (x) 1s differentiable at x =0
(¢) f (x)1s not differentiable at x =0
(d) None of the above

bor Xyo — 7[(757 Js c(egf’nec{/
M =0 _ f(k) j? deﬁ;’)@’/

1¢p ~— /'of/m s ) 1 ”ﬂ&oﬁ%’fﬂ“‘f,

2_'_90 fle) does nd exisf
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QIf f (x) =x (Jx +./(x+ 1), then

(a) f (x)1is continuous but not differentiable at x = 0
(b) f (x)is differentiable at x =0

(c) f (x)1s not differentiable at x =0

(d) None of the above

Ans: (c)
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Q) If fis a differentiable function satisfying
- f (lj =0,V n=1,nel,then

n

(@) f(x) =0, xe (0, 1]
(b) 7 7(0)=0=1(0)
(c) £(0) = 0but f ’(0) not necessarily zero

@ Ifx) <L xe (0,1]

(1) = 7/(/ 7[(_# %[) 7[(7//‘)

1) -
1[(0 7/%

L
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Q) If fis a differentiable function satisfying

f(lj =0,V n>1,n € l,then

n
(@) f(x)=0,xe (0, ]]

(b) f7(0)=0=/(0)
(c) f(0) = Obut f ’(0) not necessarily zero

(D Ifx)I£Lxe (0, 1]

Ans: (b)
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Q) Let f(x)=I|lx|-1], then points where, f(x) is not
differentiable is/are

Ea;f?ﬂ ?3?1 Shorp furns o — f’ﬁmtf where
C

a/bf) % 7%() 1 )’)lff;
O;un et 0{;7[7&2/71/‘7’70“5/@/

2-0,1,- fhose /?0‘19’)/1/

EEEEE
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Q) Let f(x)=I|lx|-1], then points where, f(x) is not
differentiable is/are
(a) 0, +1 (b)+ 1
(€0 (d) 1

Ans: (a)
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Q) Which of the following functions is differentiable
atx=07?
(@) cos ([ x|) + [ x| (b) cos (| x|) —| x|
(¢c)sin (| x|)+ | x| (d) sin (| x|)—| x|
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Q) Which of the following functions is differentiable

atx=07?
(@) cos (| x|) + | x| (b) cos (1 1) —| x|
(¢c)sin (| x|)+ | x| (d) sin (| x|)—| x|

Ans: (d)
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EEEEE

Q) Let f: R— R be defined as
f(x)=sin(]| x|)

Which one of the following 1s correct?

(a) f1s not differentiable only at O

(b) f1s differentiable at O only

(c) f1s differentiable everywhere

(d) f1s non-differentiable at many points
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EEEEE

Q) Let f: R — R be defined as
f(x)=sm(] x|)

Which one of the following 1s correct?

(a) f1s not differentiable only at O

(b) f1s differentiable at O only
(c) f1s differentiable everywhere
(d) f1s non-differentiable at many points

Ans: (d)
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Q) The motion of a particle is described as s =2 — 3t + 4t3- What
1s the acceleration of the particle at the point where its
velocity 1s zero?

(a) 0 (b) 4 unit
(¢) 8unit (d) 12unit

= B st iy 5 RT3
dl[ N B flzgg,é?{'i
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Q) The motion of a particle is described as s =2 — 3t + 4t3- What
1s the acceleration of the particle at the point where its
velocity 1s zero?

(@) 0 (b) 4unit
(¢) 8unit (d) 12unit

Ans: (d)
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Q) What is the maximum slope of the curve
y=—%x3+3x2+2x-277

@) 1 (b) 2
© 3 (d) —23

5’/ - — - S
pos 42 C2 i)
dx. =

¢

for N)Mirouﬂ) 3/706/ __d,g._: 0 ﬂ = =0 <0

d

/8 dxi
~6br +b =0
4

0

(§0 =] 1§ 0
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Q) What is the maximum slope of the curve
y=—x7+3x*+2x-277

@) 1 (b) 2
© 3 (d) —23

Ans: (c)
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Q) Let a and b be two distinct roots of a polynomial equation
f(x)=0. Then there exists at least one root lying between a
and b of the polynomial equation.

(@ f(x)=0 ®F fix)=0
© fMx)=0 (d) None of these

z af’{z):?)
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Q) Let a and b be two distinct roots of a polynomial equation
f(x)=0. Then there exists at least one root lying between a
and b of the polynomial equation.
(@ f&)=0 b) f@=0
© fMx)=0 (d) None of these

Ans: (b)
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Q) Iff(x)=23x%+6x—09,then
(@) f(x)isincreasingin (—1, 3)
(b) f(x)1sdecreasingin (3, o)
(¢) f(x)isincreasingin (—o,—1)
(d) f(x)1sdecreasingin (—oo,—1)
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Q) Iff(x)=23x%+6x—09,then
(@) f(x)isincreasingin (—1, 3)
(b) f(x)1sdecreasingin (3, o)
(¢) f(x)isincreasingin (—o,—1)
(d) f(x)1sdecreasingin (—oo,—1)

Ans: (d)
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Q) Ifx cos O + y sin 6 =2 is perpendicular to the linex —y =3,
then what 1s one of the value of 67
(@) w6 (b) w4
(c) 2 (d) =3
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Q) Ifx cos O + y sin 6 =2 is perpendicular to the linex —y =3,
then what 1s one of the value of 67
(@) w6 (b) w4
(c) 2 (d) =3

Ans: (b)
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Q) If the tangent to the curve, y=x" + ax— b at the point

(1,—-5) 1s perpendicular to the line, —x+ y+ 4 =0, then
which one of the following points lies on the curve ?

(a) (-2,2) (b) 2,-2)
(C) (_29 1) (d) (29 _1)
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Q) If the tangent to the curve, y=x" + ax— b at the point

(1,-5) 1s perpendicular to the line, —x+ y+ 4 =0, then
which one of the following points lies on the curve ?

(a) (-2,2) (b) 2,-2)
(C) (_29 ]-) (d) (29 _1)

Ans: (b)
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Q) What is the slope of the normal at the point (at?, 2at) of the
parabola y*=4ax ?

1
@ T ) t

(c) —t @d --
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Q) What is the slope of the normal at the point (at?, 2at) of the
parabola y*=4ax ?

1
@ T ) t

(c) —t @ --

Ans: (c)
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Match List I with List IT and select the correct answer using

the code given below the lists:

ListI
(@) f(X)=cosx 1.
(b) f(x)=Inx 2.

(©) f(x)=x2-5x+4 3.

(d) fx)=e* 4,
5.

Codes:

A) (B) ©)

(@ 1 4 5

(b) 1 3 5

() 35 4 2

(d) 5 3 2

List I

The graph cuts y-axis in
infinite number of points
The graph cuts x -axis in
two point

The graph cuts y-axis in

only one point

The graph cuts x-axis in

only one point

The graph cuts x-axis in

infinite number of points

(D)
’.;

4
3
4

@i=]



NDA 2 2024 - REVISION - MATHS - CLASS 12

Match List I with List IT and select the correct answer using

the code given below the lists:

ListI
(@) f(X)=cosx 1.
(b) fx)=Inx 2.

(¢) f(x)=x%2-5x+4 3.

(d) fx)=e* 4.
5.

Codes:

A) B) ©

@ 1 4 5

b) 1 3 5

(c) 5 4 2

(d) 5 3 2

Ans: (c)

ListII

The graph cuts y-axis in

infinite number of points
The graph cuts x -axis in
two point

The graph cuts y-axis in

only one point

The graph cuts x-axisin

only one point

The graph cuts x-axis in

infinite number of points

.p.w.p.we
o

@i=]
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d2

Q) Ifsinxcosy= 5 then what 1s the value of d—' at
X

(@) —4 (b) -2
© -6 (d) 0

&

mT 7T
47 4

ar
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d2
Q) Ifsinxcosy= 5 then what 1s the value of d—' at
X
@ —4 (b) -2
© -6 (d 0

Ans: (a)

&

T T
4° 4

ar
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Q) A wire 34 ¢cm long 1s to be bent 1n the form of a quadrilateral
of which each angle 1s 90°. What 1s the maximum area which
can be enclosed 1nside the quadrilateral?

(a) 68cm? (b) 70cm?
(©) 71.25cm? (d) 72.25cm?
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Q) A wire 34 ¢cm long 1s to be bent 1n the form of a quadrilateral
of which each angle 1s 90°. What 1s the maximum area which
can be enclosed 1nside the quadrilateral?

(a) 68cm? (b) 70cm?
(©) 71.25cm? (d) 72.25cm?

Ans: (d)
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Q) What is the area of the largest rectangular field which can
be enclosed with 200 m of fencing ?

@) 1600m?2 (b) 2100m?
(©) 2400m? (d) 2500m?
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EXAMS

Q) What is the area of the largest rectangular field which can
be enclosed with 200 m of fencing ?

@) 1600m?2 (b) 2100m?
(©) 2400m? (d) 2500m?

Ans: (d)
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In x .

Q) The maximum value of is

@)e (b) 1 )

e
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In x .

Q) The maximum value of is

@)e (b) 1 )

e

Ans: (b)
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Q) The velocity of telegraphic communication 1s given by
v=x2log (1/x), where x is the displacement. For maximum
velocity, x equals to?

@ e (b) 17
© () (@) 2¢717

@i=]
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Q) The velocity of telegraphic communication 1s given by
v=x2log (1/x), where x is the displacement. For maximum
velocity, x equals to?

@ e (b) 17
© () (@) 2¢717

Ans: (b)

@i=]
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Q)The maximum value of sin (x + EJ + cos (x + E), where
5 5

T . .
X € (0, E) is attained at

(a) 50 (b) T () 0 (d)

N g

@i=]
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Q)The maximum value of sin (x + EJ + cos (x + EJ, where
5 5

T . .
X € (0, E) is attained at

(a) 50 (b) T () 0 (d)

N g

Ans: (a)
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Q)What is the maximum value of 16sin© — 12sin° 0 ?

(@ (b) = ) 18

d
4 3 3 A 4
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Q)What is the maximum value of 16sin© — 12sin° 0 ?

(@ (b) = ) 18

d
4 3 3 A 4

Ans: (c)
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Q) What is the minimum value of
a’x +b%y where xy = ¢° ?
(a) abc (b) 2abc
(c) 3abc (d) 4abc
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Q) What is the minimum value of
a’x +b%y where xy = ¢*?
(a) abc (b) 2abc
(c) 3abc (d) 4abc

Ans: (b)
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Q) Ify= |s111 x|‘ x| , then what is the value of

X (6 (2 ~37)

6

(a)

T

26 (6 (n2++/3m)

(b)
6

© 26 (6 tn2 +/37)
6

@ s (6 fn2—\/§ﬂ)

6

@,
dxa 6
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Q) Ify= |smx|‘ x| , then what is the value of
@ X (6 tn2—+/3m)
6
@ 26 (6 fn2+\/§n)
6
© 2 6(6£n2+\/_ﬂ)
6
@ 26 (6 fn2—\/§ﬂ)

6
Ans: (a)

@,
dxa 6
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Q) Which one of the following is correct in respect of the
function

: 1
f(x)=xsin x + cos x+£ cos® x?
(a) It is increasing in the interval (O, g)
(b) It remains constant in the interval (O, 23)

(c) It is decreasing in the interval (0, 23]

(d) It is decreasing in the interval [g. g}

@i=]
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Q) Which one of the following is correct in respect of the
function

: 1
f(x)=xsin x + cos x+§c0$2 x?

(&) Itis increasing in the interval (O, g)
(b) It remains constant in the interval (O, 23)

(c) It is decreasing in the interval (0, En.]

(d) It is decreasing in the interval (g 2EJ

Ans: (a)

(==



NDA 2 2024 - REVISION - MATHS - CLASS 12

Q) A flower-bed in the form of a sector has been fenced by a
wire of 40 m length. If the flower-bed has the greatest
possible area, then what is the radius of the sector?

(@) 25 m (b) 20 m
(c) 10 m (d)5m
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Q) A flower-bed in the form of a sector has been fenced by a
wire of 40 m length. If the flower-bed has the greatest
possible area, then what is the radius of the sector?

(@) 25 m (b) 20 m
(c) 10 m (d)5m

Ans: (c)
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EXAMS

1
Q)What is the minimum value of [x(x —1)+1]3, where

as.x<17
1

@) (2)5 (b) 1 © (d) (g)m
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EXAMS

1
Q)What is the minimum value of [x(x —1)+1]3, where

gEx<17
L] 1/3
@) (2)3 (b) 1 © (d) (gj

Ans: (a)
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REVISION
TOPICS : * Integration

(23/08/24) e Differential Equations
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